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<ADB= ~sBEC=90",
2 ABD=90"— 2CBE
=+ BCE
o]_r{g
AADBes ABEC (AA 92
- 5OOAJ
@) AD :BE=DB : ECol=&
14 :BE=8 :4
. BE=7(cm) =+ 50%
B 7cm
AADBo ABECZIE H0(7] 50%
BE2| Zlo| 7517 50%

b SQUUTION

) A'=BHx BColu
10°=6(6+z), 100=36-+6x
6r=64 .uxz% > 50%

AH'=BHxCHel=&
32

¥=6x"5-=64
Soy=8 (" y>0) v 50%
(=3 x:%z"-, y=8
[t 122
x9} 2t #5k7| 508
y2l & #a17| 50%
ﬁ @) AB'=BHxBCo|o&
, , 15°=BHx25 .. BH=9(cm)
15 =(3X5)° @ X
s C.r=25—9=16 ~ 50%
=D AH =BHxCHolm&
y=9%x16=144
Sy=12 (U y>0) = 50%

Bl x=16, y=12

CER
9} &t 78| 50%
y2| Zf 7517 | 50%




O sizeiue
01 Beb2ADE b 2A HAA
011 (1)3:7=6:x, 3x=42
Lar=14
(2)x:6=4:12, 12x=24
Lr=2
(3)6:(9—6)=x:4, 3xr=24
. ar=8
(4)15:5=12:xz,  152=60
Coor=4

02

02

03

03

B(1)14 (2)2 (3)8 (4)4

“h2A (HSAS & 2 ADE

1(1)9:12=6 80|
BC/DE
(2)6:9%5 : 70|02 BCe} DEL= Hajalx] ok
=3
(3)2:3=4:60|22

BC/#DE
(1) Hasict. (2) HayshA] ot
(3) sl
#h 2ACE b AC @ AE
1 (1) x:8=5:4, 4x=40
Coar=10
(2)16:8=10:x, 16x=80
. xr=bH
(3)6:x=(7—4):4, 3r=24
r=8
(4)8:10=x:(12—x), 10xr=96—8x
182=96 a:z%

@)1 (2)5 (3)8 (4)%

04 ) 2AEC » AC @ EA
041 (1)5:3=10 2, 5x=30
________ g
(2)10:2=15:9, 15x=90
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E13:4

@ AAEG=AAFG BQ®

AGCF=2ADGF=2x7=14(cm")

AFEC=2AGCF=2x14=28(cm’)
B 28cm’®

3
_2,1 1
=2 x> AABC=-+AABC
:%XSDZIO(CmE} B3
AEGD=1AEBG=1x1AABC
2 276
1 aBe= L yae (e
=5 HABC= 13 % 36=3{cm")
@

ﬁ.AGFZ-%ﬁAGC

ojH MAF Hilo] Yol

B AHEN

o AZtBi0| & wio| ZXHZ
&

83

BO=DO, BM=CMo| & - 84
gz H P= ABCDY £
AAo|ct,
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